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(&Ml fiEE T ETEA N (202247 A 77) X RIEHR X

BRFhY
N A 8 9 10 11 12 1 2 3 4 5 6 7 8~7H &5t
EIESat 39 39 39 39 39 39 39 39 39 39 39 39 39
4m LE 3,344 3,505 3,821 3,434 3,553 3,449 3,212 3,621 3,188 3,151 2,996 3,111 40,385
Ik 3 2,547 2,552 3,204 3,276 3,295 3,058 3,216 3,872 3,457 3,503 3,562 3,557, 39,099
HIRE 3,059 3,413 3,193 3,500 3,428 3,301 3,441 3,474 2,686 2,390 2,151 2,284 36,319
RIS EE 1.31 1.37 1.19 1.05 1.08 1.13 1.00 0.94 0.92 0.90 0.84 0.87 1.03
14 3t Bl R FExtEE 1.09 1.03 1.20 0.98 1.04 1.04 0.93 1.04 1.19 1.32 1.39 1.36 1.11
(BTA L) = (1.05) | (1.09) | (0.90) | (1.03) | .97 | 0.93) | (1.13) | (0.88) | (0.99 | (0.95) ¥ (1.04) =
3] L 4130 4083 4269 3.990| 4.108| 4081| 3.731] 4176] B5.818| 5.091| 5.8331 5.099]  48.210
(AIRA.RST7%) IE:3 3,868 3,640 4,186 4,145 4,524 3,790 3,415 4,202 3,945 4,171 4,031 4,371 48,287
HIRE 3,989 4,097 4,114 4,340 4,440 4,082 4,035 4,318 3,754 3,524 3,640 3,785 48,117
RIS EE 1.07 1.12 1.02 0.96 0.91 1.08 1.09 0.99 0.97 0.96 0.95 0.91 1.00
19 #t Bl R FExtEE 1.04 1.00 1.04 0.92 0.93 1.00 0.92 0.97 1.02 1.13 1.05 1.06 1.00
(BTA L) = 0.99) | (1.05) | (0.93) | (1.03) | 0.99 | (0.91) | 1.12) | 0.9 [ 1.05 | (0.96) § (1.04) =
R Wi 1581] 1,430| 1,310| 1,407| 1601] 1366] 1.281] 1,322] 1,008 904| 10801 1,400 15.690
(BR.3—9R) Ik 3 1,421 1,325 1,181 1,119 1,551 1,417 1,302 1,311 1,242 1,454 1,502 1,550, 16,375
HIRE 1,358 1,393 1,529 1,467 1,672 1,471 1,621 1,481 1,099 1,009 1,047 1,244 16,291
RIS EE 1.11 1.08 1.11 1.26 1.03 0.96 0.98 1.01 0.81 0.62 0.72 0.90 0.96
14 3t Bl R FExtEE 1.16 1.03 0.86 0.96 0.96 0.93 0.84 0.89 0.92 0.90 1.03 1.13 0.96
(BTA L) = 0.90) | (0.92) | (1.0m | (1.14) | .85 | (0.94) | (1.03) | (0.76) | (0.90) | (1.19) | (1.30) =
@ F LE 145 133 138 133 138 131 136 142 144 140 133, 130 1,643
Ik 3 136 125 148 149 144 142 148 162 158 165 155, 159, 1,792
HIRE 172 173 182 173 159 156 148 162 148 130 120! 127 1,850
RIS EE 1.07 1.07 0.93 0.89 0.96 0.92 0.92 0.87 0.91 0.85 0.86 0.82 0.92
10 #t Bl R FExtEE 0.84 0.77 0.76 0.77 0.87 0.84 0.92 0.88 0.97 1.07 1.11 1.03 0.89
(AT A kE) — (0.92) (1.03) (0.96) (1.04) (0.95) (1.04) (1.04) (1.01) (0.97) (0.95) (0.98) —
#E Ef:3 2,182 2,505 2,334 2,242 2,278 2,097 2,085 2,397 2,440 2,274 2,324, 2,451 27,610
(—HHME. 2VTTH) Ik 3 2,071 2,184 2,398 2,251 2,359 1,955 2,021 2,370 2,393 2,030 2,353 2,332 26,715
HIRE 2,263 2,459 2,388 2,364 2,277 2,041 2,174 2,334 2,118 1,748 1,972 2,1894 26,327
RIS EE 1.05 1.15 0.97 1.00 0.97 1.07 1.03 1.01 1.02 1.12 0.99 1.05 1.03
21 %t Bl R FExtEE 0.96 1.02 0.98 0.95 1.00 1.03 0.96 1.03 1.15 1.30 1.18 1.12 1.05
(BTA L) = (1.15) | (0.93) | (0.96) | (1.02) | (0.92) | (0.99) | (1.15) | (1.02) [ (0.93) | (1.02) | (1.05) =
EE=E LE 2,739 2,714 2,985 3,523 3,584 2,873 3,552 4,327 3,486 2,449 3,395 3,679 39,306
Ik 3 3,169 4,064 4,409 4,103 3,763 3,581 4,078 4,739 3,885 2,943 3,710 3,930 46,373
HIRE 3,349 4,316 3,645 3,914 3,533 3,445 4,092 4,597 2,831 2,083 3,107 3,828 42,741
RIS EE 0.86 0.67 0.68 0.86 0.95 0.80 0.87 0.91 0.90 0.83 0.92 0.94 0.85
12 #t Bl R FExtEE 0.82 0.63 0.82 0.90 1.01 0.83 0.87 0.94 1.23 1.18 1.09 0.96 0.92
(BTA L) = 0.99) | (1.10) | (1.18) | (1.02) | (0.80) | (1.24) | (.22 | (0.8D) [ (0.70) | (1.39) | (1.08) =
AR LE 2,292 2,393 2,685 2,634 2,574 2,268 2,392 2,513 2,273 2,315 2,353 2,435 29,026
Ik 3 2,470 2,244 2,707 2,804 2,792 2,069 2,252 2,544 2,350 2,367 2,450 2,429 29,477
HIRE 2,330 2,504 2,680 2,803 2,719 2,323 2,530 2,596 2,259 2,144 2,465 2,450 29,803
RIS EE 0.93 1.07 0.99 0.90 0.92 1.10 1.06 0.99 0.97 0.98 0.96 1.00 0.98
13 % Bl R FExtEE 0.98 0.96 1.00 0.90 0.95 0.98 0.95 0.97 1.01 1.08 0.95 0.99 0.97
(B A L) = 1.04) | 112 | (094 | (1.02 | (088 | (1.05 | (1.05) | (.90 [ (1.02 | (1.02) j (1.03) =
B EE:3 16,413 16,764 17,542 17,262 17,837 16,266 16,389 18,497 16,357 15,223 16,113 17,205 201,869
&8t HIE 15,681 16,133| 18,233| 17,847 18,428 16,012 16,433| 19,200 17,430| 16,632 17,762 18,327 208,119
HIRE 16,521 18,355 17,731 18,560 18,227 16,819 17,942 18,961 14,895 13,028 14,503, 15,907 201,448
RIS EE 1.05 1.04 0.96 0.97 0.97 1.02 1.00 0.96 0.94 0.92 0.91 0.94 0.97
39 #t Bl R FExtEE 0.99 0.91 0.99 0.93 0.98 0.97 0.91 0.98 1.10 1.17 1.11 1.08 1.00
(BTA L) = (1.02) | (1.05) | (0.98) | (1.03) | (091 | 1.01) | 1.13) | (0.88) | (0.93) | (1.06) | (1.07) =
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GraEM ] AMmEE EETHEA N (2022578 7)) X EEHB R
Bfr FKL-FrY
4 A 8 9 10 11 12 1 2 3 4 5 6 7 8~7R B&t
EIpSak-y 28 28 28 28 28 28 28 28 28 28 28 28 28
=50 L 2,252 2,038 2,328 2,329 2,494 2,546 2,373 2,524 2,302 2,239 2,219 2,293 27,938
IE:3 2,091 1,910 2,181 2,556 2,493 2,630 2,268 2,420 2,280 2,042 2,211 2,3001 27,380
R E 2,066 2,019 1,957 2,279 2,417 2,228 2,290 2,328 2,108 1,946 1,967 1,994 25,598
BIEEXTEE 1.08 1.07 1.07 0.91 1.00 0.97 1.05 1.04 1.01 1.10 1.00 1.00 1.02
16 L mIRERE] 1.09 1.01 1.19 1.02 1.03 1.14 1.04 1.08 1.09 1.15 1.13 1.15 1.09
(FTA tE) = 0.91) | 1.14) | @.000 | 107 | (1.02 | .93 | 1.06) | 0.9 | 097 | (0.99 | (1.03) =
- L 4,783 4,667 5,067 4,919 5,320 5,500 4,655 5,484 4,592 4,693 4,588 4,915 59,183
IE:3 5,040 4,633 5,021 5,128 5,315 5,241 4,859 5,062 4,704 4,765 4,886 4,823f 59,478
R E 5,346 5,492 5,509 5,913 6,229 5,943 5,534 5,358 4,545 4,112 4,675 5,006, 63,661
BTEXEE 0.95 1.01 1.01 0.96 1.00 1.05 0.96 1.08 0.98 0.98 0.94 1.02 1.00
11 %t miRERE] 0.89 0.85 0.92 0.83 0.85 0.93 0.84 1.02 1.01 1.14 0.98 0.98 0.93
(FTA tE) = 0.98) | (1.09 | 097 | (1.08 | (1.03) | (0.8) | (1.18 | (0.84) | (1.02) | (0.98 | 1.07) =
EE:d 825 782 766 781 677 785 675 720 677 660 714 761 8,822
T7IHIL IE:3 619 547 623 648 703 688 670 707 674 776 757 796 8,207
R E 728 698 703 756 741 697 629 608 632 569 554 615 7,929
ATEXT 1.33 1.43 1.23 1.21 0.96 1.14 1.01 1.02 1.00 0.85 0.94 0.96 1.07
14 %t miRERE] 1.13 1.12 1.09 1.03 0.91 1.13 1.07 1.18 1.07 1.16 1.29 1.24 1.11
(FTA tE) = 0.95) | (098 | (1.02 | (.87 | (1.16) | (0.86) | (1.07) | (.94 | (0.98) | (1.08) | (1.07) =
BE®IE L 566 561 589 577 625 628 576 551 488 486 462 507 6,617
IE:3 473 421 499 559 632 661 577 617 626 533 498 533 6,629
(re. EE/v—%) | BIRE 521 504 499 525 586 564 525 510 480 416 372 429 5,931
BTEXEE 1.20 1.33 1.18 1.03 0.99 0.95 1.00 0.89 0.78 0.91 0.93 0.95 1.00
14 %t mIRERE] 1.09 1.11 1.18 1.10 1.07 1.11 1.10 1.08 1.02 1.17 1.24 1.18 1.12
(FTA tE) = 0.99) | (1.05) | (098 | (1.08) | (1.000 | (0.92) | (0.96) | (0.88) | (1.00) | (0.95) | (1.10) =
=R&R LE 94 101 122 112 102 112 96 122 103 80 91 85 1,218
(FRI7 I RES) FUE:3 103 107 100 118 123 114 103 118 106 108 112 118 1,333
R E 83 96 90 103 108 115 93 98 67 90 98 95 1,135
BTEXEE 0.91 0.94 1.22 0.95 0.82 0.98 0.93 1.03 0.97 0.74 0.81 0.72 0.91
8 %t mRERE] 1.12 1.05 1.36 1.09 0.94 0.97 1.03 1.25 1.54 0.89 0.93 0.89 1.07
(FTA tE) = (1.07 | (1.22 | 092 | 091D | (1.100 | ©0.86) | @.27) | 0.84) | .77 | 1.14) | (0.93) =
MHEE L4 454 436 469 441 447 474 414 465 404 395 391 413 5,202
(Bl FiE/—5%) FUE:3 399 347 388 408 417 433 419 449 426 376 396! 496, 4,955
R E 435 430 453 409 425 424 394 437 418 362 362 381 4,929
BTEXEE 1.14 1.26 1.21 1.08 1.07 1.09 0.99 1.03 0.95 1.05 0.99 0.83 1.05
13 #t BIRERE] 1.04 1.01 1.03 1.08 1.05 1.12 1.05 1.06 0.96 1.09 1.08 1.09 1.06
G:005079) = 0.96) | 1.07m | 094 | q.01) | q.06) | .87 | (1.12) | (.87 | (0.98) | (0.99 | (1.06) =
A L 8,974 8,585 9,341 9,160 9,665 10,045 8,789 9,865 8,565 8,553 8,464 8,974 108,980
=111 IE:S 8,726 7,965 8,811 9,417 9,683 9,766 8,895 9,373 8,816 8,600 8,862 9,067 107,981
R E 9,179 9,239 9,212 9,985 10,504 9,971 9,466 9,338 8,249 7,495 8,027, 8,520 109,183
BTEX L 1.03 1.08 1.06 0.97 1.00 1.03 0.99 1.05 0.97 0.99 0.96 0.99 1.01
28 tt BIRERE] 098 0.93 1.01 0.92 0.92 1.01 0.93 1.06 1.04 1.14 1.05 1.05 1.00
(FTA tE) = 0.96) | (1.09) | .98 | (1.06) | (1.04) | .87 | (1.12) | .87 | (1.00) | (0.99) | (1.06) =
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